Mila 18, ASL 2





Dana Linfield-Thomas Nordström


German turn 1, 970204





Sorry, forgot the sniper.  Please place him in N5.


Setup using a board on the east edge





FF1  ?A (3)


FF3 ?B (3)


FF5 ?E(1) and ?F(1)


FF7 ?C (4)


FF9 ?D (3)





RPh:


	Wind DR 2,2 ne  (coloured die first)





PFPh:


	nil





MPh:





1) 	FF5 ?E(1) to 


A6 (1) 


B5(2)


C5 (3)


D5 (4)


E6 (5)





2)   FF5 ?F(1) CX to


	A6 (1)


	B5 (2) 


	C5 (3) 


	C4 (4)


	D3 (5)


	E4 (6) 


	F4 (7)





3)  FF1 ?A(3) to


	A2 (1)


	B1/B2 (2)


	C2 (3)


	D1 (4)


	E2 (5)


	F2 (6)





4)  FF3 ?B(3) to


	A3 (1)


	B3 (3)


	C4 (4)


	D3 (5)


	E3 (6)





5) FF7 ?C(4) to 


	A8 (1)


	B7 (3)


	C7 (5)





6) FF9 ?D(3) to 


	A9 (1)


	B8 (2)


	C8 (4)


	D8 (6)


Thomas 970204


MPh: nil





DFPh: nil


Dana 970206


AFPh:


	nil





RtPh:


	nil





Aph:


	E2 ?(3)  to G3


	F4 CX ?(1) to G4


	E3 ?(3) to F3


	E6 ?(1) to F5


	C7 ?(4) to D6


	D8 ?(3) to E9





CCPh: 


	nil


Thomas 970206


------------------- Partisan Turn 1 RPh -------------------


Weather DR[4,1]=5


nil


------------------- Partisan Turn 1 PFPh -------------------


nil


------------------- Partisan Turn 1 MPh -------------------


nil


Dana 970214


RPh:


	nil





PfPH:


	nil





MPh:





1)  F5  ?(1) CX


	F6 (1)


	G7 (2)


	H7 (3)


	I8 (4)


	J8 (5)


	K8 (6)


	








2)  G4 ?(1)  lose CX


	G5 (1)


	H5 (2)


	I6 (3)


	J6 (4)


	


3)  F3 break off a ?(1)  


	F2 (1)


	G2 (2)


	H1 (3)


	I2 (4)


	J2 (5)


	K3 (6)





I'll wait to see what happens before moving any more.  That's gotta flush out


someone.


Thomas 970215





------------------- German Turn 2 MPh -------------------


1.	L9-M9: (3-3-7J, 3-3-7B) IFT fires @ K8


	 6FP @ -2, DR[1,1]-2= 0, 3KIA


	Sniper Attack 


		Sniper dr=1


		Random Direction=3 Distance=2


Sniper breaks 3-3-7B at M9





Off to a great start, with the snakeyes opening shot!  K8 reveal now dead


348.  


	-1 labour counter to K8





J6 loses ? to reveal 348 also





2.	M4: (8-1, 3-3-7F, 3-3-7G, 3-3-7K) IFT fires @ K3


	 8FP @ -3, DR[4,4]-3= 5, 2MC





K3 reveal 8-0  2MC  DR 1,3 passes


Dana 970217


Continue movement





4)  G3 ?(1) 


 H3 (2)


 H3l1


 reveal 648





5)  G3 ?(1) 


 H3 (2)


 H3l1


 reveal 648





6)  G3 ?(1) 


 H3 (2)


 H3l1


 reveal 8-1





7) F3 ?(1) CX 


	F4 (1)


	G5 (2)


	H5 (3)


	I5 (5)


	J5 (6)





8)  F3 ?(1) CX


	G3 (2)


	H3 (4) 


	I4 (5)


	J3 (6)





10) D6  ?(4)


	E7 (2)


	F7 (3)


	G8 (5)


	H8 (6)





11) E9 ?(1) CX


	F8 (1)


	G9 (2)


	H9 (3)


	I10 (5)





12)  E9 ?(1) 


	F9 (2)


	G10 (3)





13) E9 ?(1)


	F8 (1)


	G9 (2)


	H9 (3)


	I9 (4)  reveal 648





Thomas 970217


1.	L9: (3-3-7J) IFT fires @ I9


	 1FP @ + 1 {FFNAM,SFF,+2TEM}, DR[4,5]+ 1= 10, ne 





------------------- German Turn 2 DFPh -------------------


2.	M4: (8-1, 3-3-7F, 3-3-7G, 3-3-7K) IFT fires @ K3


	 4FP @ -1 {Area,-1Ldr}, DR[1,3]-1= 3, 2MC





		8-0 2MC @  0, DR[2,5]+ 2=9, bDM 


Dana 970220


AFPh:





1)  J6 and J5 348, 648 fire at L9.


	Note: I should have revealed the 648 when I moved it to J5 since the 337 in


L9 has LOS to that hex.


	FP  4  DRM +1 TEM, +1 CX   DR 6,4 ne





2)  I9 648 at L9


	FP 2 DRM +1  DR 2,6 ne





3)  H3 8-1 648 648 at L9


	FP  6  DRM +2  DR 6,4 ne





RtPh:





1)  K8 broke 8-0 


	K2


	J1





Please route your guy.





Aph:





1)  J3 ?(1) CX to K4


	think it keeps concealment.


2)  J5 648 CX to K5


3)  J6 348 to J7


4)  I10 ?(1) CX to J10


5) I9 648 to J9


6) H8 ?(4) to I9


7) G10 ?(1) to H10








CCPh:


nil





ZOB Turn 2





RPh:


1)  German 8-0 in J1  DRM +4, -1, +1 = +4  DR 3,3  fail lose DM


Thomas 970220





------------------- German Turn 2 RtPh -------------------





1.	20M9: (3-3-7B bDM) routs to 	20N9





------------------- German Turn 2 APh -------------------





------------------- German Turn 2 CCPh -------------------





------------------- Partisan Turn 2 RPh -------------------


Weather DR[3,6]=9





2.	N9: (3-3-7B) @ + 3, DR[2,3]+ 3=8, ne, Remove DM





------------------- Partisan Turn 2 PFPh -------------------


No actions


------------------- Partisan Turn 2 MPh -------------------





3.	20M4: (8-1, 3-3-7F, 3-3-7G, 3-3-7K) AMs to 	20N3





4.	20L9: (3-3-7J) AMs to 	20M10


Thomas 970220





------------------- Partisan Turn 2 DFPh -------------------


No actions


------------------- Partisan Turn 2 AFPh -------------------


No actions


------------------- Partisan Turn 2 RtPh -------------------





1.	20N3: (8-1, 3-3-7F, 3-3-7G, 3-3-7K) Adv to 	20M3





2.	20M10: (3-3-7J) Adv to 	20M9





------------------- Partisan Turn 2 CCPh -------------------


No actions





------------------- German Turn 3 RPh -------------------


Weather DR[3,1]=4





3.	20N9: (3-3-7B ) @ -1, DR[4,1]-1=4, Rallied


Dana 970221


RPh:


1) J1 8-0 DR 4,2 rally





PFPh:


1) I9 ?(4) reveal 9-1 3x658 at M9


	FP 16 DRM +1  DR 5,1 2MC


		337 2MC DR 3,3 PIN


	SAN dr 1  Location DR 4,2 to M5


	Your choice of K4 or K5.





------------------- German Turn 3 PFPh -------------------


Sniper attacks K4





MPh:





1)  J10 (1) CX loses CX


	K10 (2)


	L9 (4)





2) J9 658 


	K10 (2)


	L9 (4)


	


3) H10 ?(1) 


	I10 (1)


	J10 (3)


	K10 (5)





4) K4 or K5 (the nonbroken one)


	Smoke to L4  dr 3 ne


	If its K5 AM to K4


	If its K4 no further movement





5) H3l1  8-1 2x658


	H3 (2)


	I4 (3)


	I5 (4)


	J5 (5)


	K5 (6)


Thomas 970225





------------------- German Turn 3 MPh -------------------


1.	20M9: (3-3-7J PIN) IFT fires @ 20L9


	 2FP @  0 {FFNAM,Pin,PBF,+1TEM}, DR[3,5]+ 0= 8, ne 





2.	20M9: (3-3-7J PIN) IFT fires @ 20L9


	 1FP @  0 {FFNAM,Pin,PBF,Final,+1TEM}, DR[3,5]+ 0= 8, ne 





3.	20M3: (8-1, 3-3-7F, 3-3-7G, 3-3-7K) IFT fires @ 20K5


	 8FP @  0 {FFNAM,+2TEM,-1Ldr}, DR[4,5]+ 0= 9, PTC





		8-1 PTC @  0, DR[1,4]+ 0=5, ne 


		6-5-8 PTC @ -1, DR[2,2]+ 0=4, ne 


		6-5-8 PTC @ -1, DR[4,2]-1=5, ne 





		Sniper Attack 


		Sniper dr=1


		Random Direction=4 Distance=6


Sniper attacks 20K10


------------------- German Turn 3 DFPh -------------------


No actions


Dana 970228


MPh:





The sniper whacks the 8-0 in 20K10.


20K4 is a bDM 658.





AFPh:





1)  L9 658 658 @ M9 


	FP 12  DRM +2  DR 1,6  NMC


		337 NMC DR 1,2 ne


2) K5 658, 658, 8-1 @ M3


	FP 6  DRM +2  DR 6,4 ne





3) K4 658 @M3


	FP 2  DRM +3  DR 4,2 ne 


	SAN 1 DR 2,1  to L9


	Random selection 658 dr 6 break DM


			658 dr 1


That was a poor shot, low odds sniper bait!





RPh:





1) K4  658 to J4


2) L9 to K10





Aph:





1) J1 8-0 to K1


2) L9 658 to M9


3) I9 stack to J9


4) K5 8-1 to J4


5) K5 658 to K4


(still a 648 in K5)





CCPh:


 Please roll the CC if there is any.  I guessed the M9 would have


voluntarily breaked.





ZOB Turn 3





RPh:





1) J4  658 DR 3,6 lose DM


2) K10 lose DM


Thomas 970301





------------------- German Turn 3 RtPh -------------------





1.	20M9: (3-3-7J) routs to 	20N9		(2MF) volontary rout





------------------- Partisan Turn 3 RPh -------------------


Weather DR[2,2]=4





2.	20N9: (3-3-7J) @ + 3 {+1Terr,DM}, DR[3,5]+ 3=11, ne, Remove DM





------------------- Partisan Turn 3 PFPh -------------------


No actions





------------------- Partisan Turn 3 MPh -------------------





1.	20M3: (8-1, 3-3-7F, 3-3-7G, 3-3-7K) AMs to 	20N3





2.	20N9: (7-0, 3-3-7B) AMs to 	20O9


Dana 970305


DFPh:





1)  M9 658 @ N9


	FP 12 (+2)  DR 6,6 ne


Thomas 970305





------------------- Partisan Turn 3 AFPh -------------------


1.	20O9: (3-3-7B) IFT fires @ 20M9


	 1FP @ + 2 {AFPh,+2TEM}, DR[5,2]+ 2= 9, ne 





------------------- Partisan Turn 3 RtPh -------------------





2.	20N9: (3-3-7J bDM) routs to 	


	20O9		(2MF)


	20P8		(4MF)





------------------- Partisan Turn 3 APh -------------------





3.	20N3: (8-1, 3-3-7F, 3-3-7G, 3-3-7K) Adv to 	20M3





4.	20O9: (7-0) Adv to 	20P8





------------------- Partisan Turn 3 CCPh -------------------


No actions





------------------- German Turn 4 RPh -------------------


5.	20P8: (3-3-7J bDM) @ + 3 {+1Terr,DM}, DR[5,6]+ 3=14, ne, Remove DM


Dana 970306


1) Wind DR 6,1 ne


2) K10 658 Self Rally DR 3,5  (-1 self rally, +1 terrain) = rally


3) J4  658 DR 4,2 rally


4) J9 deploy one squad  with 9-1 leader DR 4,2 - successful





PFPh:





1)  K4 2*658 and K5 658 fire group @ M3


	FP 16  DRM +3  DR 3,2  1MC


		8-1  DR 3,1 pass


		337  DR 3,3 pass


		337 DR 4,1 pass


		337  DR 1,1 pass


			HOB  DRM +1 DR 6,6  Surrender


				actually berserk for partisans. 


		German sniper dr 4 ne





MPh:


1) J4 658 CX 


	K5 (1)


	Smoke attempt to L4  dr 3 ne





2)  J7 348


	Dash K7	(1)


	L6 (3)





1.	20L6: (3-3-7H) IFT fires @ 20K7


	 2FP @ -2 {FFMO,FFNAM,Area,PBF}, DR[5,6]-2= 9, ne 





2.	20L6: (3-3-7H) IFT fires @ 20K7


	 2FP @ -2 {FFMO,FFNAM,PBF,SFF}, DR[1,4]-2= 3, 1MC





		3-4-8 1MC @  0, DR[1,1]+ 1=3, ne  /HoB


	Heat of Battle DR[1,3]+(-1DRM)=3,Hero Creation





3) M9 658


	N9 (2)


	O9 (4)





4) K10 658 CX


	Bypass L9 L10 (1)


	M10 (3)


	N9 (5)


	


5) J9  9-1 348 348 658 658


	K10 (2)


	L9 (4)


	M9 (6)





6) K1 8-0 


	L0 (1)


	M1 (3)


	N0 (5)


Thomas 970308


MOL check: dr=3+1 ne


1.	20O9: (3-3-7B) IFT fires @ 20N9


	 6FP @ + 1 {FFNAM,+2TEM}, DR[2,4]+ 1= 7, NMC





		6-5-8 NMC @  0, DR[5,4]=9, bDM





2.	: (RES FP) IFT fires @ 20N9


	 4FP @ + 1 {FFNAM,+2TEM}, DR[3,5]+ 1= 9, ne 





MOL check: dr=6





3.	20O9: (3-3-7B) IFT fires @ 20N9


	 2FP @ + 1 {FFNAM,PBF,Final,+2TEM}, DR[6,4]+ 1= 11, ne 





------------------- German Turn 4 DFPh -------------------


4.	20M3: (8-1, 3-3-7F, 3-3-7G, 3-3-7K) IFT fires @ 20K4


	 8FP @ + 1 {+2TEM,-1Ldr}, DR[2,5]+ 1= 8, NMC





		6-5-8 NMC @  0, DR[4,1]+ 0=5, ne 


		6-5-8 NMC @  0, DR[5,3]+ 0=8, pinned 


Dana 970313


AFPh:





1)  K7 hero 348 @ L6


	FP 4 DRM +2  DR 4,3  ne





2)  M9  9-1 656 658 348 348 @ L6


	FP 8 DRM +2  DR 6,4 ne





RtPH:





1)  N9  658 to M10











APh:





1)  N9 CX 658 to O9


2) M9 all to N9


3) K7 all to L6


4) J4 8-1 to K5


Thomas 970314





------------------- German Turn 4 RtPh -------------------


3-3-7B at 20O9 volontarily breaks, routs to 20P8





------------------- German Turn 4 CCPh -------------------





 (Ambush: Allied dr=4; Axis dr=5)


CC DR=6,6 ne


D1) L6  Hero 348 at 337  1-1   DRM -1  DR 4,4 melee


Thomas 970319





------------------- Partisan Turn 4 RPh -------------------


Weather DR[6,3]=9





1.	20P8: (3-3-7B) @ + 3 {+1Terr,DM}, DR[6,1]+ 3=10, ne, Remove DM





2.	20P8: (3-3-7J) @ + 3 {+1Terr,DM}, DR[5,3]+ 3=11, ne, Remove DM





------------------- Partisan Turn 4 PFPh -------------------


No actions


------------------- Partisan Turn 4 MPh -------------------





3.	20M3: (8-1, 3-3-7F, 3-3-7G) moves to


	20N2		(1MF) bypass


	20O2		(2MF) bypass


	20P1		(3MF)


	20Q1		(4MF)


	20R1		(5MF)


	20S2		(6MF)





4.	20M3: (3-3-7K berserk) moves to


	20L3		(1MF)


K4  658 658 claim wall advantage. PBF FP 24 DRM -2 DR 4,1 2KIA eliminated





5.	20P8: (7-0) moves to


	20Q9 bypass	(1MF)


	20R9:		(2MF)


	20S10 to 		(3MF)


	20T9		(4MF)


	20T8		(5MF)


Dana 970320


DFPh:


1)	O9 658 at P8 


PBF FP 12  DRM +4 DR 6,1 ne


Thomas 970320





------------------- Partisan Turn 4 AFPh -------------------


1.	20S2: (8-1, 3-3-7F, 3-3-7G) IFT fires @ 20N0


	 1FP @  0 {AFPh,Long,+1TEM,-1Ldr}, DR[5,5]+ 0= 10, ne 





------------------- Partisan Turn 4 RtPh -------------------





2.	20P8: (3-3-7B bDM, 3-3-7J bDM) routs to 	


	20Q8		(2MF)


	20R8		(4MF)


	20S9		(6MF)





------------------- Partisan Turn 4 APh -------------------





3.	20M6: (3-3-7E) Adv to 	20L6





4.	20M7: (3-3-7A) Adv to 	20L6





5.	20T8: (7-0) Adv to 	20S9





6.	20S2: (8-1, 3-3-7F, 3-3-7G) Adv to 	20T2





------------------- Partisan Turn 4 CCPh -------------------


7.	20L6: (3-3-7A, 3-37E, 3-3-7H) attacks (1-4-9, 3-4-8) @ 9:4


		Odds of  2-1 @ + 0, DR[1,1]+ 0=2,KIA


	Leader Creation DR[3]+(-1DRM)=2,8-0 Leader Created





20S9 7-0 gains ?





------------------- German Turn 5 RPh -------------------


D1)	M10 658 self rally DR 6,5 no





8.	20S9: (3-3-7B) @ + 3 {+1Terr,DM}, DR[1,3]+ 3=7, Rallied





9.	20S9: (3-3-7J) @ + 3 {+1Terr,DM}, DR[2,1]+ 3=6, Rallied


Dana 970321


PFPh:


1)	M9 9-1 348 348 658 658 @ L6 FP 18 DRM +2  DR  6,3 PTC


	8-0 PTC DR 1,1  (unreal!!)  HOB DRM +1 DR 2,1 (this gets worse and worse!)


		Hero created


	SAN dr 1  DR 3,5  to S9


		Random selection 7-0 dr 2


				337 dr 2


				337 dr 6  - broken DM


	337 PTC DR 3,4 ok


	337 PTC DR 2,5 ok





2)   K5 8-1 658 658 @ L6


	FP 12 DRM +2  DR 4,6 ne





MPh:


1)  O9 658 lose CX


	O8 (2)


	N7 (3)





2) N0 8-0 Dash


	N1 (1)


	O2 (3)





3) K4 658 


	Smoke attempt to L4 dr 2 smoke


	L4 (4)





1.	20L6: (8-0, 3-3-7A, 3-3-7E, 3-3-7H) IFT fires @ 20L4


	 8FP @ + 1 {FFNAM,+2Hind}, DR[3,5]+ 1= 9, PTC





		6-5-8 PTC @  0, DR[5,1]+ 0=6, ne  /Partisan Sniper Check dr=4


4) K4 658 Dash


	L3 (2)


	M3 (4)


Dana 970325


AFPh:


nil





RtPh:


Anything?





APh:


1) N7 658 to N6


2) N9 348 to O9


3) K5 658 to K6


4) K5 658 to L5


5) L4 658 to M4


6) M3 658 to M4


7) O2 8-0 to N2


Thomas 970325





------------------- Partisan Turn 5 RPh -------------------


Weather DR[6,5]=11





1.	20S9: (3-3-7J) @ + 3 {+1Terr,DM}, DR[3,4]+ 3=10, ne, Remove DM





------------------- Partisan Turn 5 PFPh -------------------


No actions





------------------- Partisan Turn 5 MPh -------------------


Sewer movement attampt dr=2





5.	20L6: (8-0 hero, 3-3-7A, 3-3-7E, 3-3-7H) sewer-moves to


	20K6		(1MF)


	20J6		(2MF)


	20I7		(3MF)





6.	Sewer Emergence dr[1]+(-1DRM)=0,May Emerge concealed during APh





------------------- Partisan Turn 5 DFPh -------------------


Don't think you have any targets, but if you would, do.





------------------- Partisan Turn 5 AFPh -------------------


Don't think I have any targets.





------------------- Partisan Turn 5 RtPh -------------------


No actions





------------------- Partisan Turn 5 APh -------------------


8-0 hero, 3-3-7A, 3-3-7E, 3-3-7H emerges concealed in 20I7





------------------- Partisan Turn 5 CCPh -------------------


20S9 3-3-7B gains ?





------------------- German Turn 6 RPh -------------------


7.	20S9: (3-3-7J) @ -1 {+1Terr}, DR[4,3]-1=6, Rallied


Dana 970326


1)  Wind DR 3,6 ne


2)  M10  658 DR 2,6 rally


3) N9  658 deploy DR 5,3  (now 9-1 3*348 and 658 there)





PFPh:


1) M10 658 TI mop up (you roll any casualty dr, etc.)


2) M4 658 TI mop up


3) O9 348  TI mop up





MPh:


1) L5 658 AM M6


2) K6 658 AM L6


4) N2 8-0 AM N3


5) M4 658 AM N3


6) K5 8-1 AM L4


7) N6 658  AM N5


8) N9 9-1 3*348 658 


	O9 (2)


	P8 (4)


	Q8 (6)


Dana 970401


AFPh:	Nil





RtPH:	Nil





APh: 	3-4-8 adv. from 20Q8 to 20Q7.


	9-1, 6-5-8, 2*3-4-8 from 20Q8 to 20R8


	8-1 from 20L4 to 20M4


	8-0, 6-5-8 from 20N3 to 20O3


	6-5-8 from 20M6 to 20N5


	6-5-8 from 20N5 to 20O5





CCPh:	? gained at 20M4, M10, N5, O3, O5, O9


Thomas 970402





------------------- Partisan Turn 6 RPh -------------------


Weather DR[6,3]=9





------------------- Partisan Turn 6 PFPh -------------------


1.	20I7: (1-4-9, 3-3-7A, 3-3-7E, 3-3-7H) IFT fires @ 20L6


	 8FP @ + 2 {+3TEM,-1Ldr}, DR[4,2]+ 2= 8, NMC





		6-5-8 NMC @  0, DR[4,6]+ 0=10, bDM (ELRed)=> 4-4-7 bDM





------------------- Partisan Turn 6 MPh -------------------





2.	20S9: (3-3-7J, ?(2)) AMs to 	20T8 under bridge. They lose ? (7-0, 3-3-7) if 20Q7 reveals itself.





D	Q7 reveal 237 fire at T8 


	FP 2  DRM -1 DR 4,4 cower ne





	SFF  FP 1 DRM -1  DR 4,4 ne





3.	20T2: (8-1, 3-3-7F, 3-3-7G) moves to


	20U2		(2MF)


	20U2L1		(3MF)


	20U2L2		(4MF)


Thomas 970405


------------------- Partisan Turn 6 AFPh -------------------


1.	20T8: (7-0, 3-3-7B, 3-3-7J) IFT fires @ 20Q7


	 2FP @ + 1 {AFPh,+1TEM}, DR[5,3]+ 1= 9, ne 





------------------- Partisan Turn 6 RtPh -------------------


D1) L6 447 to M6, N5





------------------- Partisan Turn 6 APh -------------------





2.	20T8: (7-0, 3-3-7B, 3-3-7J) Adv to 	20U8





3.	20U2: (8-1, 3-3-7F, 3-3-7G) Adv to 	20T2





4.	20I7: (8-0 hero, 3-3-7A, 3-3-7E, 3-3-7H) Adv to 	20J7





------------------- Partisan Turn 6 CCPh -------------------


No actions


Dana 970407


------------------- German Turn 7 RPh -------------------


Wind  DR 3,4 ne


N5 447 self rally DR 5,4 lose DM


O3 8-0 658 deploy NTC DR 4,2 deploy -now ?(3)


 


PFPh:


1)  N5 ?(658) Mop-up TI


2) M4 reveal 8-1 658 @ J7 


	FP 6 DRM +1  DR 5,4  ne





3) O3 ? (348) Mop Up TI


4) R8 9-1 348 348 658 @ U8 


	FP 12 DRM +4  DR 1,2  1MC


		7-0  1MC DR 5,6 break


		No LLTC's since morale of the squads is equal to the leader.


		337 1MC DR 5,5 break


		337 1MC DR 5,1 ne


		3-3-7D NMC @  0, DR[4,6]+ 0=10, bDM





MPh:


1) M10 ?(658) AM M9


2) Q7 348 AM R6


3) O9 ?(348) 		P9 (2)


		Q10 (3)


		R9 (4)


4) O3 ?(2) AM P2


5) O5 reveal 658 	Smoke P4 dr 4 ne (2)


		O6 (4)


Thomas 970408


1.	20T2: (8-1, 3-3-7F, 3-3-7G) IFT fires @ 2O6


	 2FP @  0 {FFNAM,Long,+2TEM,-1Ldr}, DR[1,4]+ 0= 5, NMC





		6-5-8 NMC @  0, DR[5,4]+ 0=9, bDM 





------------------- German Turn 7 DFPh -------------------


2.	20U8: (3-3-7J) IFT fires @ 20R8


	 2FP @ + 2 {+2TEM}, DR[1,6]+ 2= 9, ne 





3.	20J7: (8-0 HERO, 3-3-7A, 3-3-7E, 3-3-7H) IFT fires @ 20M9


	 4FP @ + 1 {Area,+2TEM,-1Ldr}, DR[4,4]+ 1= 9, ne 





------------------- German Turn 7 RtPh -------------------


O6 658 to N5





4.	20U8: (7-0, 3-3-7B, 3-3-7D all bDM) routs to 	20V7





APh:


1) R8 9-1 348 348 658 to S9


2) R9 ?(348) to S9


3) R6 348 to S7








------------------- Partisan Turn 7 RPh -------------------


Weather DR[4,2]=6





5.	20V7: (7-0) @ + 4 {+1Terr,DM,Self}, DR[6,6]+ 4=16, ne, Remove DM, CR wound dr=4





6.	20V7: (3-3-7B) @ + 4 {+1Terr,DM,Self}, DR[3,1]+ 4=8, ne, Remove DM





1) S9 The two unconcealed 348's recombine into 658





2) N5 658 lose DM


Thomas 970410


------------------- Partisan Turn 7 PFPh -------------------


1.	20I7: (8-0 HERO, 3-3-7A, 3-3-7E, 3-3-7H) IFT fires @ 20M9


	 4FP @ + 1 {Area,+2TEM,-1Ldr}, DR[2,6]+ 1= 9, ne 





2.	20T2: (8-1, 3-3-7F, 3-3-7G) IFT fires @ 20P2


	 2FP @ + 2 {Long,+3TEM,-1Ldr}, DR[5,2]+ 2= 9, ne 





------------------- Partisan Turn 7 MPh -------------------


3.	20U8: (3-3-7J) AMs to 	20V7		(2MF)





DFPh:


1) M4 8-1 658 @ J7	FP 6 DRM +1 DR 5,5 ne





------------------- Partisan Turn 7 APh -------------------


4.	20T2: (8-1, 3-3-7F, 3-3-7G) Adv to 	20T3		(2MF)





5.	20V7: (3-3-7J) Adv to 	20U8		(2MF)





------------------- German Turn 8 RPh -------------------


6.	20V7: (7-0 WOUNDED) @  0 {+1Terr,Self}, DR[1,6]+ 0=7, Rallied





7.	20V7: (3-3-7B) @  0 {+1Terr,+1Ldr}, DR[3,2]+ 0=5, Rallied





8.	20V7: (3-3-7D) @  0 {+1Terr,+1Ldr}, DR[3,6]+ 0=9, ne


Dana 970414


1) Wind DR 6,5 ne


2) N5 658 self DR 6,1 rally





PFPh:


1)  S9 9-1 658 658 @ U8	FP 12 DRM +4  DR 2,2  1MC		337 1MC  DR 6,1 PIN





MPH:


(keep them moving regardless of defensive fire results)





1) N5 658 	M6 bypass N6 (1)


	L6 bypass M7 (2)


	K7 (3)


MOL dr=2


1.	J7: (1-4-9, 3-3-7A, 3-3-7E, 3-3-7H) IFT fires @ K7


	 24FP @ -3 {FFMO,FFNAM,-1Ldr}, DR[5,1]-3= 3, 2KIA, 12 ResFP





2) N5  658	M5


	L5


	K6


	J6 (4)


MOL dr=2


2.	J7: (1-4-9, 3-3-7A, 3-3-7E, 3-3-7H) IFT fires @ J6


	 12FP @ -3 {FFMO,FFNAM,-1Ldr}, DR[5,4]-3= 6, 2MC, 6 ResFP





		6-5-8 2MC @  0, DR[5,5]+ 2=12, bDM (ELRed)=>4-4-7 bDM





3) M9 658	L8


	K9


	J8


	I8 (4)


MOL dr=6


3.	J7: (1-4-9, 3-3-7A, 3-3-7E, 3-3-7H) IFT fires @ J8


	 8FP @ -3 {FFMO,FFNAM,Area,PBF,-1Ldr}, DR[4,3]-3= 4, 2MC, 4 ResFP





		6-5-8 2MC @  0, DR[5,5]+ 2=12, bDM (ELRed)=>4-4-7





4) M4 8-1 658 CX	


	L3 (1)


	K4 (3)


	K5 (4)


	J5 (5)


	I6 (7)


Thomas 970419


20S9: 3-4-8 AM =>20T8 under bridge





MOL dr=6+1=7 ne


1.	20U8: (3-3-7J PIN) IFT fires @ 20T8


	 2FP @ -1 {FFMO,PBF}, DR[5,6]-1= 10, ne 





MOL dr=2+1=3


2.	20U8: (3-3-7J PIN) IFT fires @ 20T8


	 1FP @ -1 {FFMO,Area,PBF}, DR[3,5]-1= 7, PTC





		3-4-8 NMC @  0, DR[5,2]+ 0=7, ne 





20S7: 3-4-8 AM =>20T7





3.	20V7: (3-3-7B) IFT fires @ 20T7


	 2FP @ -1 {FFMO}, DR[2,5]-1= 6, PTC





		3-4-8 PTC @  0, DR[3,2]+ 0=5, ne 





MOL dr=3+2=5 ne


4.	20U8: (3-3-7J) IFT fires @ 20T7


	 2FP @ -1 {FFMO,Area,PBF}, DR[3,2]-1= 4, 1MC





		3-4-8 1MC @  0, DR[1,5]+ 1=7, ne


			SAN dr=3 ne





5.	20T3: (8-1, 3-3-7F, 3-3-7G) IFT fires @ 20T7


	 2FP @ -2 {FFMO,Long,-1Ldr}, DR[6,6]-2= 10, ne 





	Random Selection dr:


	3-3-7F		2 Amm.Shortage=>2*1-2-7


	3-3-7G		2 Amm.Shortage=>2*1-2-7





20P2: 3-4-8 Dash =>20Q3	no def.fire


	               20R3





MOL dr=2+1=3


6.	20R4: (8-0, 3-3-7C, 3-3-7I) IFT fires @ 20R3


	 16FP @ + 1 {FFNAM,+2TEM}, DR[1,6]+ 1= 8, 1MC





		3-4-8 1MC @  0, DR[2,1]+ 1=4, ne 





MOL dr=2


7.	20R4: (8-0, 3-3-7C, 3-3-7I) IFT fires @ 20R3


	 8FP @ + 1 {FFNAM,+2TEM}, DR[2,2]+ 1= 5, 2MC





		3-4-8 2MC @  0, DR[4,6]+ 2=12, bDM (ELRed)=>2-4-7





20O3: 3-4-8 AM =>20P3





8.	20T3: (8-1, 1-2-7*4) IFT fires @ 20P3


	 1FP @ -2 {FFMO,Long,Final,-1Ldr}, DR[3,2]-2= 3, 1MC





		3-4-8 1MC @  0, DR[6,6]+ 1=13, bDM (ELRed) (CR)=>Elim





------------------- German Turn 8 DFPh -------------------


Nothing


Dana 970422


AFPh:


1.I6 8-1 648 @ J7	FP 3 DRM +1  DR 3,3 ne





RtPh:


1.  J6 447 to J5, J4


2.  J8 447 to I9,H9,H10


3.  R3 237 surrrender to R4





1.	20V7: (7-0 wounded, 3-3-7D bDM) routs to 	


	20W7		(2MF)


	20X6		(4MF)





APh:


1. T7 348 to U8


2. T8 348 to U8


V7 broken now DM.


3. S9 9-1 658 658 to on top of bridge in T8


4. I6 8-1 658 to I7





------------------- German Turn 8 CCPh -------------------


Ambush dr 5 +1 (lax) = 6.


U8 348 348 @ 337 


	Odds 2:1    DR 5,1 elim





Ambush dr=4+1-1=4


2.	U8: (3-3-7J PIN) attacks (3-4-8) @ 3:6


		Odds of 1:2 @ + 0, DR[3,2]+ 0=5,ne





------------------- Partisan Turn 8 RPh -------------------


Weather DR[5,6]=11


3.	X6: (3-3-7D) @ + 4 {Terr,DM,+1Ldr}, DR[2,2]+ 4=8, ne, Remove DM





4*1-2-7 recombines into 2*3-3-7 in T3





------------------- Partisan Turn 8 PFPh -------------------


MOL dr=3+1=4 ne


4.	J7: (1-4-9, 3-3-7A, 3-3-7E, 3-3-7H) IFT fires @ I7


	 20FP @ + 2 {PBF,+3TEM,-1Ldr}, DR[2,6]+ 2= 10, 1MC





		8-1 1MC @  0, DR[5,3]+ 1=9, bDM 


		6-5-8 1MC @  0, DR[4,5]+ 1=10, bDM (ELRed)=>4-4-7 bDM





5.	T3: (8-1, 3-3-7F, 3-3-7G) IFT fires @ T8


	 2FP @ -1 {Long,-1Ldr}, DR[1,5]-1= 5, NMC





		9-1 NMC @  0, DR[5,4]+ 0=9, pinned 


		6-5-8 NMC @  0, DR[4,3]+ 0=7, ne 


		6-5-8 NMC @  0, DR[3,1]+ 0=4, ne 


------------------- Partisan Turn 8 MPh -------------------


1.	20V7: (3-3-7B) AMs to 	20W7		(3MF)








2.	20R4: (8-0, 3-3-7C) moves to


	20R3 bypass	(1MF)


	20Q3		(2MF)


	20P3 to 		(3MF)


Recovery dr=4		(4MF)=>4-4-7


	20P2		(6MF)


Forced back to P3, 8-0 unconcealed.





DFPh:


1) T8 658 658 @ T3H2	FP 12 DRM +3  DR  2,1  2MC


		8-1  2MC  DR 3,2 pass


		337 DR 5,4 break DM


		337 DR 6,1 pinned








------------------- Partisan Turn 8 AFPh -------------------


MOL dr=4+1=5 ne


3.	P3: (8-0, 4-4-7C) IFT fires @ P2


	 4FP @ + 3 {PBF,AFPh,+3TEM}, DR[1,1]+ 3= 5, 1MC /German Sniper Check dr=4





		8-0 1MC @  0, DR[6,4]+ 1=11, bDM (ELRed)=>7-0





R3 BlazeDR[1,3]=4 ne





RtPH:


T3: 8-1, 2*3-3-7 bDM => S4


1.  P2 7-0 O2,N2, M3


2. I7 8-1 447 H6, G6








------------------- Partisan Turn 8 APh -------------------


4.	20W7: (3-3-7B) Adv to 	20X6		(3MF)





5.	20T3: (8-1, 3-3-7F, 3-3-7G) Adv to 	20S4		(2MF)





6.	20P3: (8-0, 4-4-7C) Adv to 	20P2		(2MF)





7.	20J7: (3-3-7H) Adv to 	20K8		(1MF)


=>4-4-7





8.	20J7: (8-0 hero, 3-3-7A, 3-3-7E) Adv to 	20K7		(1MF)


3-3-7A=>4-5-8A





------------------- Partisan Turn 8 CCPh -------------------


K8, K7, P2, R4, X6 gains ? 





------------------- German Turn 9 RPh -------------------


9.	X6: (3-3-7D) @  0 {Terr,+1Ldr}, DR[5,5]+ 0=10, ne





Dana ger upp här!


